CCSS Mathematics Assessment Task


How Many of Each?
	Grade Level:  1

	Mathematics Domain and Cluster: 

Domain: Operations and Algebraic Thinking

Cluster: Represent and solve problems involving addition and subtraction.

	Common Core standard(s) being assessed (if the task is intended to assess only one part of the standard, underline that part of the standard):
1.OA.2: Solve word problems that call for addition of three whole numbers whose sum is less than or equal to 20, e.g., by using objects, drawings, and equations with a symbol for the unknown number to represent the problem.

	Student Materials:
1. Pencil

2. Assessment Sheet

3. Math tools – Use tools that students are familiar with and have used to solve problems.

a.  eg. Number line, hundreds chart, ten frames

	Teacher Materials:  

1. Math tools that students have used in class.

2. Prepare: “How Many Fruits in All?” Task sheet

	Directions (for teacher to administer assessment task):

1. Distribute recording sheet

2. Prepare math tools for students to use to solve problem

3. Read problem to students. Remind students to solve the problem and show their work.

	Prompt:
1. Read problem to the students:

a. Say:  How many fruits in all?
b. Say:  Solve the problem.  Don’t forget to show your work.  Use words, pictures and numbers to show your thinking.
There are 18 children eating fruits.  Some are eating apples, some are eating oranges,

and some are eating grapes.  How many of each could there be?  How many apples, How many oranges, how many grapes?
2. Say:  You may use these math tools to help you solve this problem.  Point to the number line, hundreds chart and ten frames that are made available to them.  
3. Say:  If you use math tools to help you solve this problem.  Please include how you use these tools when you explain your thinking or strategies.
4. Say:  Is another solution possible?  Show your thinking.

	Correct or Model Answer: 

       Sample answers if student selects 6 children eating apples, 8 children eating oranges and 4 children

      eating grapes
1. Number line –    6 + 8 + 4 =

a. Student A: First I jumped to 6, then I jumped 8 more to 14. Then I jumped 4 more and landed on 18.

b. Student B: First I jumped to 6, then I jumped to 4 more to 10. Then I jumped to 8 and landed on 18.

2. Hundreds chart – student able to start with one number, then move correct spaces to represent next number, then move correct spaces to represent 3rd number and end up on the correct answer.
3. Making Tens Strategy:

a. I started with 6 and added 4 to make a ten. Then I added 8 to ten to get 18.

4. Counting On Strategy:

a. I started with 8 then I counted up 6 to get 14.  Then I counted up 4 more to get 18.

5. Writing equation- student should write a symbol for the unknown.  So it may look like:

a. 6 + 8 + 4 = r
b. 6 + 8 + 4 =  ]]]]]]]    
c. 6 + 8 + 4 = ?


	Scoring Guide/Rubric (a score should be awarded for each criterion below)

	Criteria (CCSS code)
	0 points
	1 Point
	2 Point

	Solve word problems that call for addition of three whole numbers whose sum is less than or equal to 20.  (1.OA.2)

	Student may or may not be able to solve a word problem that requires addition of three whole numbers even with assistance.
	Student is able to solve a word problem that requires the addition of three whole numbers with minor inaccuracies.

(e.g., may have transpose amounts incorrectly).
	Student is able to accurately solve a word problem that requires the addition of three whole numbers 



	Using objects, drawings, and equations with a symbol for the unknown number to represent the problem.  (1.OA.2)
	Student may not be able to show their work, and write an equation with a symbol for the unknown number to represent the problem.
	Student is able to show their work, and write an equation with or without a symbol for the unknown number to represent the problem.
	Student is able to show their work, and write an equation with a symbol for the unknown number to represent the problem.
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How Many of Each?

Solve the problem.  
There are 18 children eating fruits. 
Some children are eating apples.  

Some children are eating oranges.  

Some children are eating grapes.  

How many children could be eating apples, oranges or grapes?

a. Solve the problem.  Show your work using pictures, numbers or 

words.

b. Is another solution possible?  Show your thinking.
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